g (Unless we are doing an application where we are trying to find the
measure of an angle in degrees, it is expected that the output of an inverse trig function is in radians).

(@ cos'(4)= . ; (b) sin"}(-4)= ~T/(
(© 0034(:"5‘) = __..__{g._.. (d) cos™!(0)= T/
(6) tan{0)= S ) sin“(i})= . 4
9 ccs‘1(2)= Uf\dﬁ"ﬁ 14 0’{ (h) tan'l(‘\/3—)= —“/ 3
. —T -
@) tan”}{-1)= /4' ) sin“(-#): T‘/ 3
Watch S

We know ( ) f)(x) = x for every x in the domain of f, and (f of “l)(x) - x for every x in the domain of f "

So why doesn't sin l<sm( ))-fm Sine el \s onm‘fhc m\/ersocvr ",sx <Y,
This o ould ‘/’e "W/Le

(WP

Z

Are sind =2 and 6 -sin“(—%) equivalent? 1 . Oﬂ(j Gabulualen{’ 1 22—

Since tan{2£)~ -1 thenis tan”'(-1)= 2 7 1O tait (== VM4
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a) 6 =sin”'(2) ! ¢) 6 =tan”'(7) _ b e -tan“(—-§)j__
b) 8 =cos™}(-02) 2~ d) @ -sin"(—OA) l f @ -oos"l(%)____‘___

Composition of trig and inverse trig functions. Find exactly.

7
a) sin(oos'l(-‘al))= / 2
|
b) cos(tan"(4))= / r[:)
"o 2
©) tanfsin” (2)- €

d) sin(mn‘l(:i))= ?




